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A269 T1 T2 T3 T4
B=C B=C B=C B=C B=C B=C
1.500 1.500 1.500 1.500 1.500 1.500
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
T1 T2 T3 T4 T5 T6
P=C P=C pP=C pP=C pP=C P=C
1.500 1.500 1.500 1.500 1.500 1.500
12h16m 12h28m 12h38m 12h41m 13h1m 13h2m
12 12 12 12 12 12
1025hpa 1025hpa 1025hpa 1025hpa 1025hpa 1025hpa
-6 -6 -6 -6 -6 -6
1 59.751 62.661 52.701 53.225 79.000 60.293
2 59.751 62.661 52.701 53.225 79.001 60.293
3
4 59.750 62.661 52.701 53.225 79.001 60.293
5 59.750 62.661 52.701 53.225 79.001 60.293
6
E+R+C
o
o
o
SINOX
COSo
sinax
o
A263 0.999903 A263=37.29
A264 0.999903 A264=37.30
A269 0.999903 - A269=37.31 Hg=
/ *




T5 T7 A263 T6 T8 T9
B=C B=C B=C B=C B=C B=C
1.500 1.500 1.500 1.500 1.500 1.500
0.000 0.000 0.000 0.000 0.000 0.000
0.000 0.000 0.000 0.000 0.000 0.000
T7 A263 S453 T8 T9 A264
P=C P=C P=C P=C P=C P=C
1.500 1.500 1.500 1.500 1.500 1.500
13h21m 13h32m 13h39m 13h56m 14h5m 14h14m
12 12 12 12 12 12
1025hpa 1025hpa 1025hpa 1025hpa 1025hpa 1025hpa
-6 -6 -6 -6 -6 -6
1 52.439 68.526 104.276 69.278 88.685 58.506
2 52.439 68.526 104.276 69.278 88.686 58.506
3
4 52.439 68.526 104.276 69.278 88.685 58.506
5 52.439 68.526 104.276 69.278 88.685 58.506
6
E+R+C
o
o
o
SINOX
COSo
sinax
a
A263 0.999903 A263=37.29
A264 0.999903 A264=37.30
A269 0.999903 - A269=37.31 Hg=
/ *


































